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DASHED LINE:
IT IS REAL ROOF WITH
TRANSPARENCY
OVERRIDE
SO FRAMING MEMBERS
UNDER IT CAN BE VISIBLE
IN THE VIEW.
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PLAN 1: vector print PLAN 2: raster print
display mode: wireframe

PLAN 3: vector print
display mode: hidden line

as you can see framing members
disapear in this view. this is what i
believe what the mistake is in 2013.
although roof is still with the same
transparency override as plan 1.

PS: I HAVE LOADS OF DRAWINGS SET UP LIKE THIS. NOW I
CAN'T PRINT THEM CORRECTLY IN 2013 AS WHAT THEM USED
TO BE IN 2012. THAT IS WHAT ANNOYS ME.

display mode: consistant colours

framing members are all there is
because it is a raster image.


